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Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.
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3T T-97 F gig @v% ;. ‘F T, T, T ot & &

FE-F F1 @20 7% 1-1 9% & 997 & 1 # 18 a7 w7 @ I=7 I,
R &I, @r/51a 597 79T 597 G& 19 6T 20 aweT-a% e 497 &1
-8 7 21 # 25 7% 7 7Y ITOT HHT B 2-2 FH P F97 &

GUe-T 4 26 # 31 7% TG-I07 JEX & 3-3 oH % J97 &

GUE-§ § 32 T 35 % F-F01T FFT # 5-5 H B F97 &

GUE-F 7§ J97 FE 36 7 38 T JHT T STIRT 4-4 B B T 81

T goT St & EIE @ve-g 7 2 ge 8 qUe-7 & 2 §eA § qve-g & 2 Fed
7 afafs ey & e Rar 7 &

General Instructions :

- 3103

(i)

(it)

(iii)

(iv)

(v)

(vi)

(vii)

There are five Section : A, B, C, D and E in this question paper.

Section-A consists of one mark questions from 1 to 20. 1 to 18 are Multiple
Choice Questions, One Word answer, Fill in the blank, True/ False and
question numbers 19 and 20 are Assertion-Reasoning based questions.

Section-B consists of Very Short Answer Type Questions of 2 marks each
from 21 to 25.

Section-C con._siéts of Short Answer Type Questions of 3 marks each
from 26 to 31. |

Section-D consists of Long Answer Type Questions of 5 marks each
from 32 to 35.

Question Number 36 to 38 in Section-E are case study based questions of
4 marks.

All questions are compulsory. However provision of internal choice has
been- made in 2 questions of Section-B, 2 gquestions of Section-C.
2 questions of Section-D.
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g -F
SECTION - A
1. Pr=fafes demel § s-@ oy e ® 7 1
1
"R B) 2-45
(A) 72 (B)
(C) B+5)-5 (D) 2n
Which of the following numbers is a rational number ?
1
® 7 (B) 2-+5
(C) B+v5)-+5 (D) 2n
2. R 2+x+2x% -4x> Hraa s ¥ ? 1
(A) 2 (B) 3
C) 4 (D) 1
What is the degree of the polynomial 2+ x +2x2 —4x° ?
A) 2 (B) 3
€ 4 ‘(D) 1
3. R =m ¥ : | . 1
(x+y) (x-y) = .counnnen
Fill in the blanks :
(x+y(x-y =.........
4. =1 & § -1 Brgel A wErEar B A T@HE 7 1
(A) SAS (B) ASA
(C) SSA (D) SSS
Which of the following is not a criterion for congruence of triangles ?
(A) SAS (B) ASA
(C) SSA (D) SSS
5. T% wiEAg Prw @ awer qemell & awg@ @ . g 1

Angles opposite to equal sides of an isosceles triangle are

oooooooooooooooo
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FHBT -2x+ 3y =6 ax+ by +c= 0% & ¥ zgg Ffm ofc p& A FTRL ¢ 1

(A) -3 (B) 3

(C) 2 (D) -2

Express -2x + 3y =6 as ax+ by + ¢ = 0 and write the the value of b:
(A) -3 (B) 3

(C) 2 (D) -2

ABC @& 7 By B, Rt 2A = 90° At AB=AC®, & 2B R £C 1 A7F 8T : 1
(A) SAH 45° (B) 35°, 45°
(C) 30°, 50° (D) 50°, 40°

If ABC is a right triangle, where ZA = 90° and AB = AC, then find the value of
ZBand «ZC:

(A) Each 45° (B) 35°, 45°

(C) 30°, 50° (D) 50°, 40°

TF TEgTIa 9 1 oaaH 8T IR 26 B 6 cm AT FEE 7em B ¢ 1
(A) 264cm3 (B) 246cm?

(C) 120 cm? (D) 420 cm?

The volume of a right circular cone will be if its radius is 6 cm and height is
7 cm :

(A) 264cmS (B) 246cm?
(C) 120 cm? (D) 420 cm?
THA ATHT B T@ BV B TF FH F A B 1
(A) 180° (B) 150°
(C) 90° (D) 60°
The sum of the pair of opposite angles of a cyclic quadrilateral is :
(A) 180° (B) 150°
(C) 90° (D) 60°
T H YL AT6A BT .
(A) inrs (B) 42
3
(C) 4nr3 (D) 3nr2
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The surface area of a sphere will be :

(A) %nrs - (B) 4nr?
(C) 4nrd (D) 3nr2

11. Rl B A R @ gomelt & wen Rigelt & ™ At Y@mave @@l 9o Rt

Pl o | ..oeeeeneen, B R 1
(A AT (B) o
(C) @ TW ) T q B T

The line segment joining the mid points of any two sides of a triangle is parallel

to the third side and is ............ of it.
(A) double . (B) half
(C) three times (D) None of these
. 9F q, LABC = 69° iR ZACB = 31° &, & «BDC & : 1
D
69° 31
B C

In fig., ZABC = 69° and £ZACB = 31°, ZBDC will be :
D

69° 31

3103 , ?.07:.0.
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14.

15.

16.
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quﬁgﬁasrmnaaﬁrémm 10cma6cm%lmamé\1ﬂ

(A) 40 cm2 - (B) 35 em?
(C) 30 cm? (D) 15 cm? '
The base and height of a triangle are 10 cm and 6 cm respectively. Its area will
be :

(A) 40 cm? (B) 35 cm?
(C) 30 cm? (D) 15 cm?
e 3 Rt e wEfestg B € ol avET B B (g o) 1
The diagonals of a rectangle bisects each other and equal. (True/False)
i oF T B el oh-gEt @ auiawiorT HY, A 98 TH e g & 1

If the diagonals of a quadrilateral bisect each other, then itis a ............ .

ﬂ@ﬁfﬁ Y@ PO iR RS TR Ry O W wRede Fwdl ¥ aR LPOR = 60° 8, & 2S00
1

S

= Q
(A) 120° (B) 90°
(C) 60° (D) 30°
In fig., lines PQ and RS intersect each other at point O. If ZPOR'= 60°, then
ZSOQ will be : : ;

P S

60°
O
R
Q

(A) 120° - (B) 90°
(C) 60° ‘ (D) 30°

3103



17.%@@@%&3%%&%%30-40ﬂmm%5 310?
| gfafqwe | 0-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 |70-100
AT 7 10 10 20 20 15 8
(A) 10 (B) 15
(C) 20 (D) 3.5

To draw a histogram to represent the following frequency distribution. The

adjusted frequency for the class-interval 30-40 is :

Class- 0-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 |70-100
Interval
Frequency 7 10 10 20 20 15 8
(A) 10 (B) 15
(C) 20 (D) 3.5

18. Tl IFAWE 150-160 F Tt frg ¥ - 1
(A) 150 (B) 155
(C) 160 (D) 310
The class mark of the class interval 150-160 is :
(A) 150, (B) 155
(C) 160 (D) 310

19.

AREEE (A): 3R V2 =1.414, V3=11.732 , @@ V5=2+/3.
% (R) : 99THE GEA H @ eHe qge @ B

(A) (A) 3T (R) 3Ft ¥ § T (R), (A) Ft W& e B

(B) (A) ol (R) 2t | ¥ oiT (R), (A) F ¥8 =rem 78 B

(C) (A) T4 B AT (R) 3THA 2

(D) (A) 37d™ & AFPA (R) T oI

Assertion (A) : If V2 =1.414, 3 =41.732, then V5 =42 ++3 .

Reason (R) : The square root of every positive number always exists.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(C)
(D)

(A) is true, but (R) is false.
(A) 1s false, but (R) is true.

3103

(B) Both (A) and (R) are true, but (R) is not correct explanation of (A)..
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21.

22.
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AFET (A) 1 TF 9§ g9 A4l @ ord g 8 g B 1
T (R): TF g9 # G0 saiell 3 daa @t der ot &

(A) (A) 8R (R) 3T & ¥ 3R (R), (A) i wdt = B

(B) (A) 3l (R) At ¥ & A7 (R), (A) B @& are T B

(C) (A) T & afF (R) ora B

(D) (A) ™ & AfFT (R) T4 Bl

Assertion (A) : A circle can have infinite equal chords.

Reason (R) : A circle has only limited equal chords.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not correct explanation of (A).
(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

Qe -§g
SECTION-B
O.Eﬁi%@ﬁmﬁw,ﬁﬁpahq?ﬁiﬁ§aﬂ1q¢0%ﬂ 2
Express 0.6 in the form of £ , where p and g are two integers and g # 0.
q
L_ 3 & & ot it 2
2+3
Rati.onalize the denominator of - +1_ i:h
TYqEr
OR
T Hifg 2
(V3 +7)W3+47)
Simplify :
(\{5 +ﬁ)(\/§ +'ﬁ)

3103



23. k % HF 51T R0, aR (x- 1), P T PHES & Px) = kx? - 3x + k.

24.

25.

26.

27.

28.

29.

(9)

Find the value of k, if (x- 1) is a factor of P(x), P(x) = kx?-3x+ k.

YgEr
OR

% Ton R RET 105 x 106 F1 wF S Hif

Evaluate 105 x 106 without directly multiplying.

k &AM S BN, AR x=2, y= 1 §HE 2x + 3y = k F T & 8
Find the value of k, if x=2, y =1 are the solution of 2x+ 3y = k.

e B e T gl v fafaw

Write first and second postulate of Euclid.

gug -
SECTION-C

W2x+y=7%ﬁqgﬁmgﬁﬁm

Find three solutions of equation 2x + y = 7.

2 R 2 & dm o i o Femt ww AP

Find three irrational numbers between % and %

JUgFT FAARH T FB (-2x + 3y +22)° H TR

Expand (-2x+ 3y + 22)2 using suitable identity.

27y3 +1252° F THETE T HT

Factorize 27y3 +12523.

3103

3103

P 7.0
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(10)
" it 5 AB = CD el
30,@@&[%&%;40 BD ¥, = ”

Cc

B
A

In fig., if AC = BD, then prove that AB = C[!)J.

e
. B _

A -
31. @ﬂ@mmwmsoacmz%aﬂrmmﬁﬁﬂé 14 cm ¥ T T
(ilmﬁﬁﬂlii)ﬂ@ﬂ@g@m%ﬂtﬁm 3
s 308 em? and its slant
he cone.

Curved surface area of a cone i height is 14 cm. Find
(i) radius of the base and (ii) total surface area of t

ILC]|
OR
Sq WY N ST S B R g e 154 cm” # 3
Find the volume of a sphere whose surface area is 154 cm®.
qUg - ¥
SECTION-D
32. 8x3 +y3 +272° - 18xyz T THEE HIT 5
Factorize 8x°> + y3 +2723 -18xyz.
Ceo
OR
3 3 2 2 Him
8x° +27y" +36x“y + 54xy H ITES | 5

Factorize 8x° + 27y3 + 36x2y + 54xy2.
33. g #, A% AB ||CD, ZAPQ = 50° AT ZPRD = 127° 8, @ x &R y I it 5
A

é 2
50°
y
" " 127,
c Q R D

3103
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In fig., il AB||CD, ZAPQ = 50° and /PRD = 127°, find x and y.

o3

e R %
50°
y
i al 127 .
c Q R D

34. Ascmbscwmacwmﬁmgﬁw%(mﬂ@ﬁ)lmﬁs
. 5

ZABD = LACD ¥
A

ABC and DBC are two isosceles trian

gles on the same base BC {see in fig).
Show that ZABD = #ACD .

35. t@ﬂ%{‘gﬁ[ﬁm’(ﬂd@(ﬂot)ﬂ%gmﬁﬁﬂﬂﬁm3:5:7%mmm300m%l3'{1

S FH B S il 5

The sides of a triangular plot are in the ratio 3: 5 : 7 and its perimeter is 300 m.
Find its area.

:

OR

3103 P.T.0.
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(12)
5

@ @ FH g A T 9856 cm3 ¥ AR ED MU H AR 28 cm ¥, A A A :
(1) SF@ H ng

(i) 9% A foedw Farg

(ii) G B ITFH TS A=A

The volume of a right circular cone is 9856 cm®. If the diameter of the base is
28 cm. Find :

(i) Height of the cone

(i) Slant Height of the cone

(iii) Curved surface area of cone

e -7

SECTION-E
mmmwﬁg\aﬁp Q R, S R T W @2 & & &, qa ® & &7 I
mgwwm%.m%maﬁm@m@mw@%uwﬁﬁ

3@HT I F I A

Q. -IG)P@S
——— S x
= % -5 4 -3 -2 -1 1 2 3 a4 5 6

- =1
-2 o,
K2 4 <3
+ 4
L 5
| 6

&
(i) <9 &g ®: ™ Ry, Pew v-Feas g
(i) e agate & P-ar fag & 7

(i) fg P& s 7w & 7

(iv) Rg 7% Fdens w7 € ?

e T T
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Five friends are playing a game in which they are standing at different position
P, Q, R, S and T. Rohan is watching them playing. Few questions came to
Rohan's mind while watching the game.

Give answer to the questions by looking at the figure :

Y
L6
5
4
.3
L2
0 |, of &°
X —t+—ee—t—t—t—t—tt++—+—+—>X
-6 -5 4 -3 2 -1 1 2 3 4 858 &
+ -1
" (e, o
2 1
+ -4
+ -5
4 -6
4 =7
Yl

() Name the point whose Y-coordinate is zero.
(ii) Name the point lying in the third quadrant.
(ilij What are the coordinates of P?

(iv) What are the coordinates of T'?

37. FfAs-19 Femrd, BA FAN @ TEA F T F ff T S ¥, R A saww Rigw
PR a@TH 2 (SARS-COV-2) & FHROT B Il PIAAT arawd GWrdt 2019 3 0F 97 @
werrdl i FEH qEEH Geel AX REWR, 2019 X 99 & oM § g o who & v
m%q&awﬁﬂ%ﬁzﬁﬁg%wﬁaaoﬁﬁﬁfﬂﬁmaﬁaﬁﬁmwmw
%ﬁmwmﬂmw%

3103 P.T.O.
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omg (st &) it @ e
5-15 6
15-25 11
25-35 21
35-45 23
45-55 14
55-65 -
ITAT A B FTAX B weit B IR AR
(1) Wﬂﬁﬁfwaﬁmﬁmﬁm| - 1
(i) - MG T G FH AT g ? :
(iii) -8 MY T AF TR go ? | 1
(iv) 4594 3T Ieq s omg & Feaw whor et fg g ? 1

The Covid-19 pandemic also known as the Corona virus pandemic. It is an
ongoing pandemic of Corona virus disease 2019 caused by Severe Acute
Respiratory Syndrome Corona Virus-2 (SARS-COV-2). It was first identified in
December, 2019 in Wuhan, China. A data was collected of 80 patients admitted
in a hospital who were infected with COVID is shown in the cumulative

frequency distribution table :

Age (In Years) Number of Patients
5-15 6
15-25 11
25-35 Vg
35-45 _ 23
45-55 14
55-65 - 5
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Based on the above information, answer the following questions :

(1)

State the class interval with the highest frequency.

(i) Which age group was least affected ?

(i) Which age group was most affected ?

(iv)

How many patients aged 45 years and above were admitted ?

38. TH W U Fha ¥1 Sud o o Pryeme @q Rradl o 240 m, 200 m 3T 360 m
% 38 9% A ST @ ¥ @@ @ @ G 240 m, 320 m 3T 400 m YT AT TH
I EF ¥, T qe A g 9o I aear ¢ (gl H) owA A9 B ogEd d=& TN D

we fig A wga o & et o @ ari § Rl @ Ran 3 @ oF 9§ 3Ed ey
I AR gE AT # @t I

360 m

200 m

IR SHH B STHR ) e ge & SuY g

() W B QA H oTE-GRAT F B ?

(i) I8 AT F FE-IAY T HC, TEH @ g T @ I " 7
(i) X @ B G @ B

3103 P.T.O.
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Ram Saran is a farmer. He has a triangular shaped field with sides 240 m,
200 m and 360 m, where he wants to grow wheat. Adjoining this field he has
another field with sides 240 m, 320 m and 400 m, where he wants to grow
potatoes and onions (see in fig.). He divided equally this field into two parts by

joining the mid point of longest side with opposite vertices. In one of the field he
wants to grow potatoes and in other onions.

400 m

Potatoes " Onions

360 m

240 m 920'm

200 m

Based on the above information answer the following questions :
(i) Find the semi-perimeter of wheat's field.

(i) Find the semi-perimeter of field where he wants to grow potatoes and
onions.

(i11) Find the perimeter of whole field.
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